Lesson 10: Derivatives of Trigonometric Functions
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Blooket | Question Set - Answer Key

Derivative Rules

Everything before Chain Rule and Derivative of Exp, Log, and Inverse Trig.

. Find the derivative
d
= (2023)

a) 2023
c) Ov

. Find the derivative
d 2

()

a) 2x

c) Ov

. Find the derivative
d 3
o (3x )

a) 3x2

c) x2

. Find the derivative

d (12
dx( 47" )
1
a) —§x~/
1 2

c) X
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Name

Date

Class

b) 1
d) -2023

d —2xn

b) 92 Vv

d) 9x3

b)

= =

d)
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5. Find the derivative

2
4 (—2x4+ = —x)

dx 2
a) 8x3+x—1 b) —8x3+x
Q) 2 4x—1 d 83+x—1V

6. Find the derivative

d% (sinx)
a) sinx b) —sinx
Cc) cosx v d) —cosx

7. Find the derivative

d

o (cosx)

a) sinx b) —sinx v
C) cosx d) —cosx

8. Find the derivative

d

o (secx)

a) secxtanx v b) —sec xtanx
c) Sec2_x d) —seczx

9. Find the derivative

d

% (tanx)

a) secxtanx b) —sec xtanx
c) seczx v d) —seczx
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10. Find the derivative

d% (cotx)

a) cscxcotx

c) csc? x

11. Find the derivative
d% (cscx)

a) cscxcotx

c) csc2 X

12. Find the derivative

A [P
dx x3

a) x 211V

o —x 141

13. Find the derivative
d (2x+1
dx ( 2x—1 )
4
A -1)?

8x
D (2c-1)2

14. Find the derivative

d%(( 2+1)(-1))

a) 4y° v

0) 4x°—1
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b) —cscx cotx

d) —csc?x v

b) —cscxcotx v

d) _0802 X

b) —x %4y

d x 241

b) —4y°

d) 43 +1
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15.

16.

17.

18.

19.

Find the derivative

7 ()

| 3
a) L 2
) > X

Find the derivative
da (1
dx ( \x )

1 3
a) L 2
) 57X

3
2

C)— X v

1
2
Find the derivative
< (xsinx)

a) cosx—xsinx

c) cosx+xsinx
Find the derivative
d% (xcosx)

a) cosx—xsinx v

c) cosx+xsinx

Find the derivative

d% ( 2 sinx)

a) 2xcosx +x2 sin x

, .
) 2x cosx—x“sinx
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b) =x |
1
d Ly 2 v
"
b) — 1 2
) X
| -1
d L 2
) 5

b) sinx+xcosx v

d) sinx—xcosx

b) sinx+xcosx

d) sinx—xcosx

b) 2x sinx —x2 COS X

d) 2xsinx+x2cosx ¥
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20. Find the derivative

(2 cosx)

a) 2x cosx+x2 sinx b) 2x sin x — x2 cos x

) 2xcosx—x2sinx VY d) 2x sinx + x2 cos x
21. Find the derivative
d .
T (5sinx)

a) —S5cosx b) S5cosx v

c) Ssinx d) 0+cosx

22. Find the derivative

d% (6+cosx)

a) —sinx v b) sinx

c) —6cosx d) —6sinx

23. Find the derivative

d (sinx
dx( X )

X COSx—sinx —x Sinx —coSx
a) B v b) >
X X
—X coSx +sinx X sinx—cosx
c) 2 d) 2
X X

24. Find the derivative

d [ cosx
dx X

X COSXx—sinx —X SINX — COS X
a) P b) 2
X X
—x cosx+sinx Xsinx—cosx
c) 2 d) 2
X X
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25. Find the derivative

d .

p (sinx cosx)

a) 1

c) cos?x—sin’x v

26. Find the derivative

£ ()

27. Find the derivative

da (7
dx(xs)

a) —355 %

c) 35x4

28. Find the derivative

d X
dx ( 2sinx )

2sinx+2xcosx

4 sin2 X

a)

) 2sinx —2xcosx v
C .
4sm2x

29. Find the derivative

d X
dx | 3cosx

cosx +xsinx

a
) 9 cos2x
3cosx+3xsinx
c) 2
3cos™x
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b) sinx+sinxcosx

2 2

d) cos“x+sin“x

b) %x

1
g L. 2
)2x

b) 35,0 v

d) 7x

SIn X — X COS X

b
) 4sin2x
2sinx —2xcosx
d) 5 sin2
sin” x
3cosx—3xsinx
b) 2
9cos” x
3cosx+3xsinx
d) 2

9cos™ x
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30. Find the derivative

d

= (mx)

a) n Vv b) 0
c) - d 1
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